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Consider the equation below. (If an answer does not exist, enter DNE.)
flx) = x* —6x? - 15x + 4

{a}%d the interval on which fis increasing. (Enter your answer using interval notation.’

Find the interval on which fis decreasing. (Enter your answer using interval notation.)

(b) Find the local minimum and e

wglues of f. (_,/ 12) local Man
(';,_qc,) Loca! MiN

(c) Find the inflection point.

Find the interval on which fis concave up. (Enter your answer using interval notation.)
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We do the same thing with a trigonometric polynomial.

Consider the equation below. (If an answer does not exist, enter DNE.)
fix)=6 casz(x) — 12 sin(x), 0=x<2nw

(a) Find the interval on which fis increasing. (Enter your answer using interval notation.)
Find the interval on which fis decreasing. (Enter your answer using interval notation.)

(b) Find the local minimum and maximum values of f.
(c) Find the inflection points.
Find the interval ocn which fis concave up. (Enter your answer using interval notation.)
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